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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWQ SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

@US ‘A’ SECTION ‘A’
fraforfaa weal § ¥ S o1 IO FERT 150 U=al A I

Answer the following in about 150 words each :

w7 e o forg @ror Safeai s @ & Qe @l odl § | 98 SHa e % e
Y fore R i € 7

Explain why the companies buy back their own shares. How is it different from

issue of bonus shares ? 10
o B AT o JfE anens @l wdt & aa wwa fAuRer G
“HT9=’ | 99T AT GeHd © ? A9 T o qaEEl ® fhe YR v w4 ?

“Recognition of revenue presents two basic problems, namely timing and
measurement”. Do you agree ? How would you solve these two basic problems ?

10
a9 R ) @ 9 At Ul weH gata & atfis o e ver fatfa w5 s
frear af & g9 W G @ a2

What do you understand by the term Annual Value of house property ? How would
you determine the annual value of let out house property which remained vacant
for part of previous year ? 10
%aa@ﬁ%wmﬁ%q% ‘F e AR gell ana @ foe weR B
l

Explain with suitable examples how ‘Shut-down Cost’ is different from ‘Sunk Cost’.
10
W i wE faget @ we fif, &7 o = f danda s e

AAIEF H AW H @Al =i |

Explain five major points that an auditor shall keep in mind while conducting audit
of a Charitable Trust. 10

a1 fofiree ofk wa fafies =1 womem 1 sk, 2019 # sk St qiia & ot foan
T | QAT HUET % FRER B G & e e g fafies’ & am & uE 9
Foft = g | 31 |, 2019 i fRfy F sEr, = fafee ok @ fafiee &

(% =@ #)
frao aa fafies = fafies
(A) gTfaeT :

(i) T ISt
Rt (3100 UA) 2,000 1,600
15% 3mSR (Vs <100 1) 800 600
(ii) qeaTea sTRfdra 200 160
(iii) amT=T ARfEaa 400 300
(iv) sFfaQw @ 160 120
(v) 12% FO-u= (WS 100 ) 192 160
(vi) =T qrired 408 190
4,160 3,130
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(i) Tt ufwataar 2,400 2,000
(ii) =Te] uReafar, wor a9t e 1,760 1,130
4,160 3,130

Afafer gaAY

(1) @ fafies sk 7@ fafiee & siftmrel drafat & = weelt & 100 wha &
15% M A seR-seR gear § e fHu 2

(2) 7 @t 7 v forfiee ok @ foafiee & 12% fed=t & 7l st & wafw
T H 16% HRO-99, T100 wfd SR o< Toemr @ arfs sae sat @
mm”rwﬁaﬁl‘%l

(3) =& B faffies 3 v fafies & uds fFadt IR & fog 1.5 3Radt Qar qun
fafis & w3 SFd R & fou o e R S foen | s B
& qAH AR 100 3Hfhd T T 7 |

st ‘“fea & ey & Al @ v e anden feu @ % gs=TE 01 s
2019 &I =% B ferffiee &1 qom-99 JaR AT R |

Sun Ltd and Moon Ltd were amalgamated on and from April 01, 2019. A new
company called Black-Hole Ltd was formed to take over the business of the above
two companies. The balance sheets of Sun Ltd and Moon Ltd as on March 31, 2019
are given below : -

(¥ in lakhs)
Particulars Sun Ltd Moon Ltd
(A) Liabilities :
(1) Share Capital :
Equity shares of ¥100 each 2,000 1,600
15% preference shares of 100 each k00 600
(i1) Revaluation Reserve 200 160
(i) General Reserve 400 300
(iv) Surplus Account 160 120
(v) 12% Debentures of ¥100 each 192 160
(vi) Current Liabilities 408 190
4,160 3,130
(B) Assets :
(1) Fixed Assets 2,400 2,000
(i1) Current Assets, Loans and Advances 1,760 LBO
4,160 3,130
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Additional Information :

(1) Preference shareholders of Sun Ltd and Moon Ltd have received the same
number of 15% preference shares of 100 each in the new company.

(2) 12% Debentures of Sun Ltd and Moon Ltd are discharged by the new company
by issuing adequate number of 16% Debentures of ¥ 100 each to ensure that
they continue to receive the same amount of interest.

(3) Black-Hole Ltd has issued 1-5 Equity shares for each Equity share of Sun Ltd
and 1 Equity share for each Equity share of Moon Ltd. The face value of shares
issued by Black-Hole Ltd is ¥100 each.

You are required to prepare the balance sheet of Black-Hole Ltd as on April 01, 2019
after the amalgamation has been carried out using the “Pooling of Interest Method”.

20
2.(b) & fafmin Fufai S w=em =R fFrafafaa €, oo e @ folr axdt @ -
foraTor HAAT T HAAT qTE
ST SUFNT 90% - 60%
fasht (3 @@ #) 540 300
gfad] @rE (3 9@ #) 396 225
fraa @mE (3 9@ #) 80 50

7% A 5¢ T yeae st faen s R, aReem Hifw

() Toeifim doat 6 dge-wr fosft otk S8 &R | a@ar &1 9 |
(1) 80% &wan ST R faefia o= i srweniar |

(i) T 75 @@ @ gArHr Afla e & fore fafa @u & fafern |

(iv) v foeifia @a= T 75 @@ & T A affa = F gEar W yEfed ®1, 9@
Fra Suftema & 5% 6t gfg = aarg T & fou fosht Sma 7 ot wfasaan

gfg 6t sravaswar gl ?
Two manufacturing companies which have the following operating details, decide to
merge :

Particulars Company X Company Y
Capacity Utilization 90% 60%
Sales (¥ in lakh) 540 300
Variable Cost (¥ in lakh) 396 225
Fixed Cost (¥ in lakh) 80 50

Assuming that the proposal is implemented, calculate :

(i) Break-even sales of the merged plants and capacity utilization at that stage.
(i1) Profit of the merged plant at 80% capacity utilization.
(iii) Sales of the merged plant to earn a profit of ¥ 75 lakh.

(iv) When the merged plant is working at a capacity to earn a profit of ¥ 75 lakh,
what percentage increase in selling price is required to sustain an increase of
5% in fixed overhead. 15
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2.(c) =i Hifsu fF smmeR e & foe faifct & smawia feafa e yer fatfa

&l St ©
Discuss how the residential status of an assessee i1s determined for income tax
purposes ? 15

3.(a) A v i # ek wHEd € sk sadn wftar ffafea €
(i) 99 — 30,000 T wfawTE
(i) TEME WA (S I Fa gaEt i # i g ®) - 999 H 60%
(iii) gl dvm aemT § siveE - 3,000 ¥ wiowTe
(iv) UsF A fERR o6 SRR — 3,000 ¥ wiowTe
(v) ST Toama & wrfed a6 o sW & 9Raed " - 2,800 ¥ wfaATe

(vi) wfafgfs wer (37 7éM & forw) - 3,000 ¥ whwre

(vii) TR WAl — 2,000 ¥ WiwHTR
(af R & =M anfhm & stfafEl w 12,000 ¥ =@ f)

(vii)) 3¢ Tryes fram 6 gfaen ¢ v 2 | oo fam & aaw wE 2,000 ¥
mgf&aéﬁné%lwﬁeﬁqaﬁm? T H TR Iah fsit
SyEn vg fear @ fomam sfafea q=2 75,000 7 % |

(ix) 97 01.10.2018 ¥ TH AtaR AR Hher f gher ¢ 7 2 v v =
I 3,000 T WRMIE TWHR gRT WA foram s <@ @ |

(x)a%so,OOO?ggm@ﬁqaqeﬁméﬁzﬁwﬁwﬁﬁﬁW%
TR

(xi) 01.10.2018 H IR 3 f7arh & Q oM@ T H F HRHR Gl & foig
" 625% F Famdt s ) R femn | @ ww § 9w @ 10,000 wfowTe
01.01.2019 & WK & | 01.04.2018 T R T o il =TS R 9-25% 4t |

(xii) THR F fireex T A a9 feafafaa €
(a) Saa sar sifies
w@d & fow 10,500 T (S Tfsr &1 <@ ?)
golt & ferw 12,000 T (S fyr v @@ )
wi & foru 8,000 ¥ (s Tyt v @@ ?)
0% 9 % forg 8,000 ¥ (S IH IR A el R
W] 98 ERgar | difsd ®), (i afyr w=mE eeR )

Toft <t wifrRRmi 2014-15 % od o § <t Wi o4 |
(b) ufectsh widiEe we & s fhw — 5,000 ¥
() /T T N Hoo § UG W@ & IEh S B — 6,000 ¥
(d) Shew s e & wem &g forg & o R A (99 9E) - 36,000 °
Qﬁ_qn'_t'l'qﬁl?f&rl"l:
(i) 99 I=
(i) ¥RT 80 C & d&d el & foru agess v |
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Mr. X is a Government employee at Ludhiana and is getting following emoluments :
(1) Salary — ¥ 30,000 per month
(i1) Dearness Allowance (enters) — 60% of salary
(iii) Contribution in Notified Pension Scheme — ¥ 3,000 per month
(iv)- Employer’s contribution to Pension Scheme — ¥ 3,000 per month
(v) Transport Allowance for commuting between home and office — ¥ 2,800 p.m.
(vi) Deputation Allowance (for 2 months) — ¥ 3,000 per month

(vii) Entertainment Allowance — ¥ 2,000 per month
(During the year, he spent ¥ 12,000 on entertainment of official guests)

(viii) He has been provided with a rent-free accommodation. The licence fee for the
accommodation has been fixed at ¥ 2,000 per month. The government has
also provided him with furniture items cost'ng ¥ 1,00,000 (WDV - ¥ 75,000)
for his personal use.

(ix) He has been provided with the facility of a servant and watchman w.e.f.
01.10.2018 and the government is paying ¥ 3,000 per month to each of these
servants.

(x) A laptop costing ¥ 50,000 has been given to him for his official as well as
personal purposes.

(xi) On 01.10.2018 he took a loan of ¥ 2,00,000 from his employer to buy a car
at a concessional rate of interest of 6-25%. The repayment of loan started w.e.f.
01.01.2019 @ < 10,000 per month. SBI rate of interest as on 01.04.2018 was
9-25%.

(xii) During the year savings made by Mr. X were :
(a) LIC Premium :
For Self ¥ 10,500 (sum assured ¥ 2,00,000)
For Spouse ¥ 12,000 (sum assured ¥ 1,00,000)
For Mother ¥ 8,000 (sum assured ¥ 1,00,000)

For Major Son ¥ 8,000 (not dependent on him but is suffering from
disability) (sum assured ¥ 50,000)

All life insurance policies were taken in the previous year 2014-15.
(b) PPF Deposits : ¥ 5000
(c) Tuition Fees of Second Son studying in a College ¥ 6,000
(d) Repayment of Housing Loan from LIC'(Principal Portion) — ¥ 36,000
Calculate :
(i) Salary Income
(i1) Qualifying amount for deduction U/S 80 C. 20
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3.(b)

3.0¢)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

e A AT FT EHIAA 7 UF WG SIE FUICA < STAvEh ded 1 B & ?
Tqeh GREHTT FT € ?

What do you understand by budgeting ? What are the essentials of effective
budgeting system ? What are its limitations ? 15

forr st o frafkor (weEidr) worel = S R 7 g wemEE e
faeior yorelt & form R firm @ 7 fomm smenfa @i frafor yomedt @ < @A
& N A WE ST |

What is Activity Based Costing (ABC) system ? How is it different from Traditional
Costing System ? Explain the Steps to implement ABC system. 15

S SR AaEEaT H WY HfC | g & et afafy
ﬁmﬁ‘q@) IR sefarfaa geafafy ﬁaﬂmaq%ﬁﬂg & o9 e
IWWW%ASG%W%Wﬁ#ﬁWWEﬁ

Explam the nature and need for depreciation. Distinguish betwecn straight line
method and diminishing balance method of depreciation. What disclosures are

required to be made in financial statements as per AS-6 on depreciation accounting ?
20

ﬁaﬁ%ww%?%mﬁ@ﬁmﬁaﬁtmﬁm
|

What is Responsibility Accounting ? Explam the prerequisites and the problems in
its implementation. 15

araRy 6 sawn Jamwien ¥ foe yoar fw e § 7 e offerfat @ =<
WHR Tt Frot & F=_T H ARY T Fehdl © ?

Explain how investigation is different from that of Auditing. Under what

circumstances the Central Government can order for investigation of a company ?
15

gusg ‘B’ SECTION *‘B’
Fraferfaa weAl 3§ A wde &1 ST 9T 150 =t F S

Answer the following in about 150 words each :

Yam sttt fraw fofa 6 Sfua e AT ST R, feeg 9w et i
TG I AR & GHH Uahlfeh el § || qHien Sifor |
“Maximization of profits is regarded as the propei objective of investment decision,
but it is not as exclusive as maximizing shareholders’ wealth” — Comment. 10
o Y ST I TSI WG <l AT BT STHERYT aRAT =TfeT || 9 3 wend
T 7 FT sgEr i el ?

“A firm should follow a policy of very high dividend pay-out”. Do you agree ?
Why or why not ? 10
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5.(c)

5.(d)

5.(e)

6.(a)

SemEd-Shuw fasewn # serfiar fag & smen Fifa |

Explain ‘Indifference Point’ (IP) in EBIT-EPS analysis. 10
wrafies SR R fidias TR & o= fadea $if |
Distinguish between Primary Market and Secondary Market. 10

“gewrtt fiftr % e & wlft & FRy oo wom fey @ SR a2 1
T FIF & R hifeg |

“Investing in securities through Mutual Fund is a better choice than direct

investment” — examine the statement. 10
F F F SEmt and o frefafea faeo wem awar ®
o Wi I ARG Wfd s — T 70
U AH I AR Wid swE - ¥ 35
9 AFa wfa gohTE - T 55
Fd ana did 3E - % 160
o wfd 3 —~ 3 25
foor qea wfq s - T 185
AfReh AR : '

(i)ﬁmaﬁﬂﬂ?@mﬁ%ﬁqeﬁﬁm%l

(if) Aol 3fEcA STeT WET WiskAn A el © |

(ifi) TR A G Th wE & Ty wie # wa € |

(iv) smafdfeafalt grRT UF AE F IER W R |

(v) SGRI & A W SER g ® |

(vi) Fogdl % e # 11 were @ foers g € |

(vii) SaRerdl & WA § TF 7 A o B € |
(viii) TH-1ITE IAIGT g o= SAal € |

(ix) T 3R F& & A% 2,50,000 T @ H 1T H S E |

ATTE I I 1,04,000 IHEAT H Frmsiea & wX @ fa-dwn w3 & fog
mmaﬁsﬂaﬁgftaﬁ%gq@ﬁﬂwéaﬂm%lmugmm%%
Qi a9 ¥R U BN T & =Jdl € | woigd 3R Sufer s yeER Suihia eid
% 3k 52 wER 1 a¥ & @Hged ¢ | R WK HUIR UF "E & W € |
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6.(b) -

A proforma cost sheet of a company provides the following particulars :

Raw Material Cost per Unit
Direct Labour Cost per Unit
Overhead Cost per Unit
Total Cost per Unit
Profit per Unit
Selling price per Unit
Additional Information :
(i) Raw Materials are in stock on an average for 1 month.
(ii) Materials are in process on an average for 1 month.

- 70
- ¥ 35
- ¥ 55
- Z 160
- ¥ 25

- T 185

(111) Finished goods are in stock on an average for 1 month.
(iv) Credit allowed by Suppliers is 1 month.
(v) Credit allowed to Debtors is 2 months.
(vi) Lag in payment of wages is 15 weeks.

(vi1) Lag in payment of Overhead expenses is 1 month.

(viii) ;th of the output is sold against cash.

(ix) Cash in hand and at bank is expected to be ¥ 2,50,000.
You are required to prepare a statement showing the working capital needed to
finance a level of activity of 1,04,000 Units of production. You may assume that
production is carried on evenly throughout the year, wages and overheads accrue
similarly and a time period of 52 weeks is equivalent to a year and 4 weeks is

equivalent to a month.

20

frafafaa gl @, wog it @1 w9a &, w W A afEme

forararamdt & A wae F1 IR Hfsg .
31, 2019 9§ & wIfi )

R A R ARG — ¥ 1,00,000
fafsrar - ¥ 1,50,000
LD - ¥ 12,000
star wifiey - ¥ 3,000
g™ - ¥ 10,000
siffes gAY

frazo 01.04.2018
[ A T 18,000
W fae ¥ 7,000
TTER T 8,000
wWIh ¥ 20,000
e dad T 2,000
Tded ST WifEm T 1,000

D

01.04.2019
3 25,000
T 4,000
T 6,000
T 25,000
3 3,000
¥ 1,000
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From the following information of a firm, calculate the cashflow from operating
activities by applying Direct Method :

(For the year ended March 31, 2019)

Cost of Goods sold —

Sales -

Salaries -

Insurance Premium  —

Depreciation -

Additional Information :
Particulars

Debtors

Bills Receivables

Creditors

Stock

Salaries Outstanding

Prepaid Insurance Premium

¥ 1,00,000

¥ 1,50,000

T 12,000

T 3,000

T 10,000
01.04.2018 01.04.2019
¥ 18,000 T 25,000
T 7,000 T 4,000
T 8,000 Z 6,000
T 20,000 Z 25,000
T 2,000 I 3,000
T 1,000 Z 1,000 15

6.(c) ot G fofa & defim few sma Sorm @ we Al

Illustrate the Net Income Approach relating to capital structure decision making.

15

7.(a) ety forfiee aot fRy domEt @ @ & & fae 10 9r 2 @0 safakes
T dTed! § | P & o frew & s g wfduRka s % €9 7 2,10,000 ¥
Iuersy € | fafes =R frafafea € -

() o — 3fFadt o

(i) T i @G ¥ 1,80,000 TF

(iii) 01 B ARE T 1,80,000 F G

(iv) 33 wfd (R
(v) ATHI A

(vi). STy # sfera fowmm )
(vii) I TR g wld AR

(viii) & A T

SDF-U-COMA
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— 30% — 70%

—  10% (IR ¥ 9=a)
—  16% (I | 9ga)
- 4

—  50% (M =)

— 10%

T 44

- 50%



7.(b)

Fmae! Freafafed s #
(a) afafces fa sem &q wlvew frafor |
(b) afafes o it SX-uv=g siad @r @ et |
(c) wicrenia sma wa fFadt Gft A ar & faio |
(d) sfafes fo &t w-uvaq @ wRifera sitea @r@ 1 afee |
Akash Limited wishes to raise additional finance of ¥ 10 lakh for meeting its

investment plans. It has ¥ 2,10,000 in the form of retained earnings available for
investment purposes. The following are the further details :

(1) Debt — Equity Mix —  30% - 70%
(i1) Cost of Debt up to ¥ 1,80,000 —  10% (before tax)
(111) Cost of Debt beyond ¥ 1,80,000 — 16% (before tax)
(iv) Earnings per share — T4
(v) Dividend pay out —  50% of earnings
(vi) Expected growth rate in dividend — 10%

(vii) Current market price per share - T 44

(viii) Tax Rate — - 0%

You are required to :
(a) Determine the pattern for raising the additional finance.
(b) Determine the post-tax average cost of additional debts.
(c) Determine the cost of retained earnings and cost of equity.

(d) Compute the overall weighted average after tax cost of additional finance.

20
freafafaa smeert & smoet 31 7 2019 &1 ‘@ fofies &1 gemas duR & ®
e, AT ~ 1601 |
SIG IS GRIG - 1-110: 1.

AT 3Tad — 6T
S AN AT — 20%
=GR - 192 WER
fer afwafa smad ~ 1257
arfafoar wa snfiem o1 9ot & s - 025:1
S RO W g W °§ FqAd — 051
fer ofeufs =1 9 999 & g ~ 120:1
¥ & TR\ fo - 7,50,000 ¥
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7.(&:)

8.(a)

8.(b)

8.(c)

- ' ..as
R

From the following information, you are required to prepare the balance sheet of
A Ltd as on March 31, 2019 :

Current Ratio - 1-60 : 1

Liquid Ratio -  10:1

Inventory Turnover — 6 times

Gross Profit Ratio - 20%

Debt Collection Period — 192 months

Fixed Assets Turnover — 1-25 times

Reserves and Surplus to Capital -  0-25:1

Long Term Loan to Net worth - 05:1

Fixed Assets to Net worth - 1.20:1

Sales for the year - F7,50,000 ‘ 15

o dioa, @ g ? |09 uH, G0 F Hed M- 8 ? TS ged Al AqY
THATT | 9% o UF SiRew W Ry W) arawsd giawd $ 9R § En oanr g 2
What is CAPM ? What are the components cf CAPM equation ? Explain the

meaning of each component. What does it tell us about the required return on a risky
investment ?7 ' 15

ﬁ%w&mww%?ﬁ@ﬁﬁmwmlﬁ
gl & fore semme it 9 Tl fafim aae @ e St |

What do you mean by corporate restructuring 7 Outiine its objectives. Explain the
various techniques used for corporate restructuring. 20

‘g1 AR’ T R ? T sl R Wl WS Hif |

What is ‘Money Market’ ? Discuss its features and functions. 15
arfifsas a9 & s yerf w == Hifg |
Discuss the various functions of a commercial bank. 15
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